Measurement Factoids and Fun

The English (or Customary) System of Measurement has 85 base units.  Some units date back to about 6000 B.C. and often were based on parts of the body.  Each country introduced its own standards and there was often no relationship between them. 


cubit
- elbow to tip of finger


span
- width of open hand fingertip to fingertip; 2 spans = 1 cubit



palm
- width across hand; 3 palms = 1 span


hand
- length of hand; now standardized to 4 ½ inches


yard
- gird; a man’s belt; or, King Henry’s nose to thumb with arm outstretched


fathom
- length from fingertip to fingertip with arms outstretched


foot
- 1/16 of a rod


rod
- length of 16 men standing heel to toe


inch
- length across man’s thumb; 3 barleycorns


pace
- one walking step in Germany; two walking steps in Rome


furlong – length of furrow across a square 10-acre field




mile
- 1000 paces


acre
- amount of land a yoke of oxen could plow in one day


knot
- about 1000 fathoms

Some units are defined simply to measure particular objects.


Fortnight – 14 days, and 14 nights





carat
- equiv. weight of a carob seed; used to measure godl


square
- 10x10 sq. ft. of roofing material


bolt
- 120 linear feet of fabric


catty
- 1 1/3 pounds of tea


cord
- 128 cubic feet of wood (4x4x8)


Firkin
- 56 pounds of lard


Skein
- 360 linear feet of yarn

In the English system, there are 58 different sizes of bushels!

60 lb. avoidupois

45 lb. apples


64 lb. plums

47 lb. barley


60 lb. beans


48 lb. quices

56 lb. beets


20 lb. bran


60 lb. rutabaga

48 lb. buckwheat

50 lb. cabbage


60 lb. rye-mean

50 lb. carrots


100 lb. cement


62 lb. ground salt

20 lb. charcoal


40 lb. coke


85 lb. coarse salt

75 lb. coal


56 lb. cherries


45 lb. Timothy seed

56 lb. corn


60 lb. corn in Indiana

60 lb. turnips

40 lb. cranberries

60 lb. clover seeds

60 lb. wheat

50 lb. chestnuts

50 lb. cornmeal


45 lb. rice

40 lb. currents

 
50 lb. cucumbers

56 lb. rye

14 lb. grass seed

48 lb. grapes


100 lb. sand

80 lb. lime


60 lb. hominy


60 lb. tomatoes

55 lb. onion


48 lb. peaches


50 lb. walnuts

32 lb. oats in NJ

28 lb. oats in CT

60 lb. potatoes in MA

33.5 lb. oats in KY

35 lb. oats in MO

56 lb. potatoes in NC

50 lb. pears


22 lb. peanuts


56 lb. potatoes in VA

60 lb. dried peas

56 lb. green peas

Which is heavier, an ounce of gold or an ounce of feathers?


Troy:  

480 grains = 1 ounce


Avoirdupois:
436 grains = 1 ounce

Which is heavier, a pound of gold or a pound of feathers?


Troy:  

12 ounces = 1 pound  (5760 grains)


Avoirdupois:
16 ounces = 1 pound  (6968 grains)

In 1714, Gabriel Fahrenheit, a German instrument maker, invented the first mercury thermometer. The lowest temperature he was able to attain with a mixture of ice and salt he called 0°.  He use the normal temperature of the human body, which he selected to  be 96°, for the upper point of his scale. (With today’s more accurate thermometers, we use 98.6° F)  On this scale of temperatures, water freezes at 32° and boils at 212°, and is called the Fahrenheit scale.

The mouthful is a unit of measure for volume used by the ancient Egyptians. It was also part of an English doubling system: 

2 mouthfuls = 1 jigger



2 pints = 1 quart

2 jiggers = 1 jack



2 quarts = 1 pottle

2 jacks = 1 jill




2 pottles = 1 gallon

1 jills = 1 cup




2 gallons = 1 pail

2 cups = pint

The familiar nursery rhyme that begins “Jack and Jill went up the hill” mentions three units of volume: the jack, the jill, and the pail The rhyme was composed as a protest against King Charles I of England for his taxation of the jacks, or jackpots, of liquor sold in taverns.  Charles’s success at accumulating revenue from the taxes on liquor is the origin of the expression to hit the jackpot. The phrase broke his crown in the nursery rhyme refers to Charles I. Not only did he lose his crown, but also he lost his head in Britain’s civil war not many years after he began taxing jackpots.

“Once upon a time, when the world was simpler, a foot was really as long as a man’s foot, and a cubit the distance from a man’s elbow to the end of the middle finger. Now we measure things much smaller than shoes and larger than arks, but there is still a desire to put them in human context. Sometimes comparisons to the old an familiar work – so many football fields, so many time to the moon, But other times its appear as if nature is too much with us as we try to express our expanding powers of science in comprehensible terms. Take the micron, for example, a unit so small – one millionth of a meter – that it seems hard to cast in human context.

It can be hard to grope with the big too. Life Magazine says Yellowstone Park is three times the size of Rhode Island. The Associated Press describes one Iceland cap as 3 Rhode Islands. But Rhode Island isn’t always the handiest measure. For example, the Exxon Valdez is widely reported to have spilled its oil across an area of 15 times the size of Rhode Island. That could have been easily described as 2.5 New Jerseys, but New Jersey just isn’t an acceptable yardstick. Nor would it do to call something half a Rhode Island, or 1 1/2 New York Cities. Some fractions just aren’t poetic.”

In 1958, fraternity pledges at M.I.T. (where Math is Truth”) were ordered to measure the length of Harvard Bridge, not in feet or meters, but in “Smoots” one Smoot being the height of their 5-foot 7-inch classmate, Oliver Smoot. Handling him like a ruler, the pledges found the bridge to be precisely 364.4 Smoots longs. Thus began a tradition: the bridge has been faithfully “re-Smooted” each year since, and its new sidewalk is permanently scored in 10-Smoot intervals. Oliver Smoot went on to become an executive with a trade group in Washington, D.C.













